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. (10%) Find the interval of convergence of the series E spz® where

s, is the kth partial sum of the series E 1

=

. (15%)

{1} Find llmo(\fﬁ — ld:}:f""'ﬁ.

(2) If f{=) Zim find (F0).

{(3) Compute fz\.-‘ﬁ.fc — 2% — 8 dz.

(20%)

(1) Find the values of p for which the series 22 k(!lk) Converges,

{2) Let p > 1. Use the integral test to show that

1 wo ] no1 1
{p— 1){n+ 1)p- < Elﬁ B ,E:, " {p—pe1

o Iﬂu—l

n-=1

n+ 2

dr, % = 1. Prove that I, =

3
11 and evaluate j{;m m—gz—ﬂ—gdm.

. (10%) Set

2.2

glz,y) = { ﬁ;ﬁ (z,3) # (0,0)
O’ (xryl = [U,D)‘

{a) Show that 8g/0x and dg/dy both exist at {0,0). What are
their values at (0,0)?

. : . » ”
(b} Is the limit (Wl)l_r}]%u,u}g(a:, y) exist or not? Why?

. (20%)

(1) Use cylindrical coerdinates to compute

A AR

%
S AL AL = yray: g
(2) Compute fu j'; fu zyfx? 4 ot + P2dzdody.
. (10%) Use triple integration to find the volume of the solid T
bounded above by the parabolic cylinder z = 4 — 3* and bounded m

below by the elliptic paraboleid z = 2% + 3g°




